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Answer all the questions in the spaces provided.

1. The data below shows the trends in output and employment of UK manufacturing since 1980.
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Source: Daily Mail 11 December 2011

With reference to the data, explain one factor that could explain the change in manufacturing
productivity over the period shown. [3]
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The diagram below shows the market for cycle helmets. o

Price of
cycle
helmets
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Suppose, as a result of an increasing number of serious accidents involving cyclists, firstly the
government made the wearing of cycle helmets compulsory and secondly, at the same time,
reduced the rate of VAT on cycle helmets.

(a) Adapt the above diagram to discuss whether the policy changes are likely to increase or
reduce the price of cycle helmets. [6]
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(b)  Explain how the policies outlined above may help to correct market failure. [4] o
10
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3. A football club charges a £15 admission fee to their home games and its average attendance is o
5,000 per game. It then reduces its admission fee to £12 and as a result average attendances rise
to 7,000 per game.
Calculate the price elasticity of demand for this football club and explain why the club’s revenue
has been affected by the price change. [4]
4
4. An antiques expert has bought a valuable religious painting dating back 1,000 years at a car
boot sale for £13. The painting has since been valued at several thousand pounds.
Using the above passage explain the concept of asymmetry of information. [4]
4
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5. Complete the circular flow diagram below by identifying flows 1 to 5.
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(a) In the above diagram explain the shape of both the aggregate demand and aggregate
supply curves. [4]
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(b)  Explain how fiscal policy can shift both the aggregate demand and aggregate supply o
curves to the right. [6]
10
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In the 2010 Budget the UK government announced a five year plan to rebuild the economy.
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With reference to the data, discuss how successful this plan seems to have been. [8]
8
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8. RUSSIA JOINS WORLD TRADE ORGANISATION (WTO). o
The WTO is an international organisation which promotes free trade amongst its members.
To what extent might Russia expect to benefit as a result of freer international trade? [8]
8
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For continuation only.
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